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A&st= Al A-E x, x+1, x+2 25t
x+(x+1)+ (x+2) =54

3x =51, x=17

webA] 71ed] = x4 1 = 18 o[t}




A F A2 AFFol= 22 4000 9, 10000 ¥o] Eof Ut
A2 500 YA A =57 = sHRlT.
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@4000 + 1000x = 10000 + 500x

@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x

Fo] x7i g 9] AFH-L2 4000+ 1000x Ho] T ] HFH-2
10000 + 500x ¥ o]t
4000 + 1000x = 10000 + 500x
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10g ol a 9! A" bkgS 434S o, A Boljof & FHE a, b 2 HIEZ
LERH A9

® 0.1ab Y @ ab¥d ® 10ab
@100@% ® 1000ab ¥

10g ol a ¥O]BRE 1000g = 100 x a = 100a (Y) o]t
1kg ol 100a YOI1EE bkg O] F-2 100axb = 100ab ( Q) o]t
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® -3x+5=2x-5 @)4-3x=-2(x-2)-x
® 6-x=+x @)3x-5=3(x-2)+1

® 4(x+1)=-2

~&B

@® -3x+5=2x-5
@4-3x=-2x+4-x,
4-3x=-3x+4
®6—x=+x

@ 3x-5=3(x-2)+1,
3x—-5=3x-6+1,
3x-5=3x-5

® 4(x+1) =-2,
dx+4=-2
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@ at+c=b+colHa=bo|tt
© ac=bc °|"H a=b °|tt.

©® a=b°Ha-c=b-colTt
® 3a= b oW a= b oI,

@gzbowﬂazzbom.

® 6,0 @ 6, ©
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® 9,06
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oFHof 100 & F5HH,
24x + 520 = 2x + 80

22x = —440
Sox=-20
a=-200°]2=2

a® —a = (-20)2 - (-20) = 420
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10. 5% < A"E 200 g T 10% 1 A&E 300 g & 4™ 2 % 9
ArEo] T=717

O% @6 0% @ O

5
5% Q1 A”E 200 g ol 019 %*%‘ﬂ"&—%mwm—m(g)
10
10% 1 A5= 300 g ol 1= A2 %t—e—300xm = 30(g)
FAYES AAS Y AEE9 2 200 + 300 = 500 (g)
FATES AJS W] AT 2 10 + 30 = 40(g)
AFEL BEE S0 X100 = 8(%)




